PROJECT: HONOAPIILANI HIGHWAY WIDENING
LAHAINALUNA ROAD TO AHOLO ROAD

FEDERAL AID PROJECT NO.: STP-030-1(39)

TYPE CODE: 03, 21, 31, 42, 43

INTERNET POSTING: November 24, 2008

BIDS OPENED: December 30, 2008

COMPLETION TIME: Two Hundred Seventy (270) Working Days

GOODFELLOW BROTHERS, INC.

HAWAIIAN DREDGING CONSTRUCTION CO., INC.

MAUI MASTER BUILDERS, INC.

KIEWIT PACIFIC, CO.

COMPLETION TIME. Two numbers seventy (270) Working Days													
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT								
201.0100	Clearing and Grubbing	L.S.	L.S.		\$38,900.00		\$50,000.00		\$56,321.00		\$120,000.00		\$125,000.00
202.0100	Removal of Guardrail	L.S.	L.S.		\$8,900.00		\$9,240.00		\$3,782.00		\$8,000.00	-	\$9,900.00
202.0200	Removal of Existing Pavement	L.S.	L.S.		\$310,000.00		\$120,000.00		\$151,841.00		\$300,000.00		\$330,200.00
202.0300	Removal of Existing Headwall	L.S.	L.S.		\$3,400.00		\$2,000.00		\$8,174.00		\$10,000.00	-	\$9,000.00
202.0400	Removal of Existing Chain link Fence	L.S.	L.S.		\$11,000.00		\$16,150.00		\$4,148.00		\$35,000.00		\$8,100.00
202.0500	Removal of Existing Concrete Slab	L.S.	L.S.		\$420.00		\$500.00		\$915.00		\$3,500.00		\$1,100.00
202.0600	Removal of Existing Wood Fence	L.S.	L.S.		\$740.00		\$1,500.00		\$2,245.00		\$2,500.00		\$500.00
202.0700	Removal of Existing Cement Rubble Masonry Slope	L.S.	L.S.	,	\$3,400.00		\$1,000.00		\$3,416.00		\$2,500.00		\$7,000.00
203.0100	Roadway Excavation	12,220	CU. YDS	\$20.00	\$244,400.00	\$40.00	\$488,800.00	\$34.80	\$425,256.00	\$30.00	\$366,600.00	\$25.16	\$307,500.00
204.0100	Trench Excavation for Water System	L.S.	L.S.		\$11,703.00		\$15,000.00		\$41,797.00		\$10,000.00		\$13,600.00
204.0200	Trench Excavation for 8-inch Waterline	L.S.	L.S.		\$14,859.00		\$70,000.00		\$77,135.00		\$6,500.00		\$7,600.00
205.0100	Structure Excavation for CMU Noise Barrier / Retaining Wall Foundation	L.S.	L.S.		\$214,000.00		\$100,000.00		\$358,680.00		\$330,000.00		\$980,000.00
205.0200	Structure Backfill for CMU Noise Barrier / Retaining Wall	L.S.	L.S.		\$234,000.00	7	\$180,000.00		\$491,660.00		\$250,000.00		\$696,000.00
206.0100	Excavation for Drainlines	L.S.	L.S.		\$8,414.00	ŕ	\$150,000.00		\$99,198.00		\$28,000.00		\$69,600.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	L.S.	L.S.		\$123,000.00		\$175,000.00		\$117,803.00		\$90,000.00		\$100,000.00
209.0200	Additional Water Pollution, Dust and Erosion Control	F.A.	F.A.		\$30,000.00		\$30,000.00		\$30,000.00		\$30,000.00		\$30,000.00
304.0100	Aggregate Base	L.S.	L.S.		\$40,000.00		\$60,000.00		\$102,968.00		\$125,000.00		\$22,050.00

PROJECT: HONOAPIILANI HIGHWAY WIDENING LAHAINALUNA ROAD TO AHOLO ROAD

FEDERAL AID PROJECT NO.: STP-030-1(39)

TYPE CODE: 03, 21, 31, 42, 43

INTERNET POSTING: November 24, 2008

BIDS OPENED: December 30, 2008

GOODFELLOW BROTHERS,
INIC

HAWAIIAN DREDGING CONSTRUCTION CO., INC. MAUI MASTER BUILDERS, INC.

KIEWIT PACIFIC, CO.

BIDS OPENED: December 30, 2008 COMPLETION TIME: Two Hundred Seventy (270) Working Days													
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT								
305.0100	Aggregate Subbase	L.S.	L.S.		\$478,000.00		\$300,000.00		\$484,584.00		\$650,000.00		\$674,000.00
312.0100	Hot Mix Glassphalt Base Course	L.S.	L.S.		\$3,160,000.00		\$3,158,400.00		\$3,853,248.00	-	\$3,358,400.00		\$1,630,800.00
401.0100	HMA Pavement, Mix No. IV	L.S.	L.S.		\$2,301,000.00		\$2,300,500.00		\$2,806,610.00		\$2,500,000.00		\$5,131,000.00
503.0100	Concrete for Retaining Wall / Drain Manhole	L.S.	L.S.		\$1,545,000.00		\$1,500,000.00		\$1,803,264.00		\$1,000,000.00		\$1,743,000.00
503.0200	Concrete for Retaining Wall footings	L.S.	L.S.		\$1,397,000.00		\$1,380,173.00		\$1,830,262.00		\$845,000.00		\$1,782,500.00
503.0300	Concrete for Noise Barrier base	L.S.	L.S.		\$490,000.00		\$800,000.00		\$543,400.00		\$450,000.00		\$567,000.00
507.0100	Metal Railing	L.S.	L.S.		\$396,000.00		\$385,750.00		\$461,831.00		\$384,300.00		\$56,520.00
509.0100	CMU Noise Barrier Walls, 8 inch CMU	3,070	SY	\$160.00	\$491,200.00	\$198.00	\$607,860.00	\$295.50	\$907,185.00	\$220.00	\$675,400.00	\$250.00	\$767,500.00
602.0050	Reinforcing Steel for Retaining Wall / Drain Manhole	L.S.	L.S.		\$273,000.00		\$265,000.00		\$383,774.00		\$314,500.00		\$1,007,898.00
602.0051	Reinforcing Steel for Retaining Wall Footings	L.S.	L.S.		\$510,000.00		\$495,000.00		\$481,900.00		\$400,000.00		\$1,712,529.00
602.0052	Reinforcing Steel for CMU Noise Barrier	L.S.	L.S.		\$35,000.00		\$34,250.00		\$54,312.00		\$44,500.00		\$286,320.00
602.0053	Reinforcing Steel for Noise Barrier base	L.S.	L.S.		\$124,800.00		\$121,000.00		\$122,000.00		\$90,000.00		\$412,896.00
603.0100	Bed Course Material for Culvert	L.S.	L.S.		\$16,700.00		\$20,000.00		\$24,144.00		\$5,000.00		\$7,650.00
603.0200	Clean Existing Culverts	F.A.	F.A.		\$4,000.00		\$4,000.00		\$4,000.00		\$4,000.00		\$4,000.00
603.0300	24-inch High Density Polyethylene Pipe, Class S	L.S.	L.S.		\$96,000.00		\$40,000.00		\$91,378.00		\$185,000.00		\$76,800.00
603.0400	Extend Existing Culvert	L.S.	L.S.		\$18,000.00		\$50,000.00		\$162,870.00		\$60,000.00	,	\$140,000.00
604.0100	Type 1 Grated Drain Drywells (50' Deep)	10	EACH	\$39,100.00	\$391,000.00	\$13,000.00	\$130,000.00	\$48,845.00	\$488,450.00	\$25,000.00	\$250,000.00	\$50,000.00	\$500,000.00

PROJECT:

HONOAPIILANI HIGHWAY WIDENING

LAHAINALUNA ROAD TO AHOLO ROAD

FEDERAL AID PROJECT NO.: STP-030-1(39)

TYPE CODE: 03, 21, 31, 42, 43

INTERNET POSTING: November 24, 2008

BIDS OPENED: December 30, 2008
COMPLETION TIME: Two Hundred Seventy (270) Working Days

GOODFELLOW BROTHERS, INC.

HAWAIIAN DREDGING CONSTRUCTION CO., INC. MAUI MASTER BUILDERS, INC.

KIEWIT PACIFIC, CO.

OMPLETION TIME: Two Hundred Seventy (270) Working Days										T		Т	
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT								
604.0200	Type C1 Catch Basin Drywells (50' Deep)	5	EACH	\$43,900.00	\$219,500.00	\$26,000.00	\$130,000.00	\$53,154.00	\$265,770.00	\$35,000.00	\$175,000.00	\$50,000.00	\$250,000.00
604.0300	Type B1 Catch Basin Drywells (50' Deep)	3	EACH	\$43,600.00	\$130,800.00	\$25,000.00	\$75,000.00	\$55,610.00	\$166,830.00	\$40,000.00	\$120,000.00	\$50,000.00	\$150,000.00
604.0031	20' Drywell Extension	L.S.	L.S.	-	\$33,140.00		\$16,000.00		\$12,200.00		\$10,000.00		\$20,000.00
604.0400	Grated Drain Inlets, 5 ft. to 5.99 ft.	11	EACH	\$10,900	\$119,900.00	\$13,000	\$143,000.00	\$19,930	\$219,230.00	\$15,000.00	\$165,000.00	\$5,000.00	\$55,000.00
604.0500	Type D1 Catch Basin, 5 ft. 5.99 ft.	4	EACH	\$7,200	\$28,800.00	\$10,000	\$40,000.00	\$17,660	\$70,640.00	\$15,000.00	\$60,000.00	\$8,000.00	\$32,000.00
606.0100	Guardrail Type Strong Post W-beam	L.S.	L.S.		\$585,000.00		\$596,620.00		\$475,547.00		\$567,838.00		\$120,285.00
606.0200	Terminal Section Type G	L.S.	L.S.		\$6,700.00		\$6,540.00		\$10,793.00		\$6,540.00		\$1,000.00
606.0300	Terminal Section Type FLEAT-350 (TL-2)	L.S.	L.S.		\$31,100.00		\$30,200.00		\$42,114.00		\$30,200.00		\$9,000.00
606.0400	Terminal Section Type (ENERGITE III (TL-3) Sand-Filled Barrels	L.S.	L.S.	**	\$48,700.00		\$5,530.00		\$2,166.00		\$12,000.00	,	\$7,000.00
606.0500	Transition Section Type Thrie Beam	L.S.	L.S.		\$40,000.00		\$38,840.00		\$51,484.00		\$38,840.00		\$6,000.00
606.0600	Guardrail Type Thrie Beam	L.S.	L.S.		\$122,760.00		\$119,065.00		\$11,133.00		\$119,063.00		\$24,240.00
607.0100	6-Feet Chain Link Fence	L.S.	L.S.		\$40,000.00	·	\$36,830.00		\$47,110.00		\$36,400.00		\$31,000.00
607.0200	Chain Line Fence Gate, 6-Feet High and 12-Feet Wide	L.S.	L.S.	i i	\$960.00		\$875.00		\$10,370.00		\$1,000.00		\$8,000.00
613.0100	Adjusting Centerline and Reference Survey Monument	4	EACH	\$900.00	\$3,600.00	\$300.00	\$1,200.00	\$732.00	\$2,928.00	\$2,200.00	\$8,800.00	\$1,000.00	\$4,000.00
616.0001	Permanent Irrigation System	L.S.	L.S.		\$101,000.00		\$225,000.00		\$108,824.00		\$96,196.00		\$42,582.00
617.0001	Imported Planting Soil	L.S.	L.S.		\$11,200.00		\$173,400.00		\$11,712.00		\$10,777.00		\$13,150.00
617.0002	Soil Amendments	L.S.	L.S.		\$1,100.00		\$7,825.00		\$2,586.00		\$7,300.00		\$3,300.00

PROJECT: HONOAPIILANI HIGHWAY WIDENING LAHAINALUNA ROAD TO AHOLO ROAD

FEDERAL AID PROJECT NO.: STP-030-1(39)

TYPE CODE: 03, 21, 31, 42, 43

INTERNET POSTING: November 24, 2008

BIDS OPENED: December 30, 2008

nty (270) Working De

GOODFELLOW BROTHERS, INC.

HAWAIIAN DREDGING CONSTRUCTION CO., INC. MAUI MASTER BUILDERS, INC.

KIEWIT PACIFIC, CO.

COMPLETION TIME: Two Hundred Seventy (270) Working Days													
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
619.0001	Tree, Shower Tree/Madagascar Olive-25 Gallon	L.S.	L.S.		\$20,800.00		\$22,080.00		\$21,838.00		\$20,530.00		\$23,500.00
619.0002	Tree, Loulu Palm-25 Gallon	L.S.	L.S.		\$58,600.00		\$122,480.00		\$63,568.00		\$56,250.00	-	\$37,500.00
619.0003	Shrub, Dwarf Poinciana-Field Stock	L.S.	L.S.		\$9,700.00		\$22,550.00		\$11,346.00		\$20,970.00		\$24,000.00
619.0004	Shrub, Beach Naupaka-1 Gallon @ 3;-0" o.c.	L.S.	L.S.		\$14,600.00		\$17,200.00		\$14,689.00	*	\$16,000.00		\$17,510.00
619.0005	Shrub, Croton-1 Gallon	L.S.	L.S.		\$2,500.00		\$4,030.00		\$2,196.00		\$3,750.00		\$3,000.00
619.0006	Shrub, Bromeliad-1 Gallon	L.S.	L.S.		\$4,000.00		\$7,800.00		\$4,941.00		\$7,200.00		\$4,002.00
619.0007	Shrub, Pohinahina-6" Pots	L.S.	L.S.		\$26,000.00		\$26,500.00		\$26,169.00		\$24,600.00		\$44,424.00
619.0008	Grassing	L.S.	L.S.		\$8,000.00		\$22,150.00		\$22,448.00		\$20,600.00		\$3,698.75
619.0009	Maintenance Period	L.S.	L.S.	8	\$9,500.00		\$16,000.00		\$10,980.00		\$14,500.00		\$4,050.00
619.0010	Clinker Stone-8"-12" Dia.	212	C.Y.	\$150.00	\$31,800.00	\$106.00	\$22,472.00	\$153.00	\$32,436.00	\$21,000.00	\$4,452,000.00	\$160.00	\$33,920.00
619.0011	Root Barrier-5' Lengths, 2' Depth	47	EACH	\$50.00	\$2,350.00	\$136.00	\$6,392.00	\$68.00	\$3,196.00	\$6,000.00	\$282,000.00	\$10.00	\$470.00
619.0012	Filter Fabric	17,226	S.F.	\$0.25	\$4,306.50	\$0.50	\$8,613.00	\$0.26	\$4,478.76	\$0.50	\$8,613.00	\$2.00	\$34,452.00
623.1001	Honoapiilani Hwy./Dickenson St. Traffic Signal System	L.S.	L.S.	,	\$208,000.00		\$332,000.00		\$237,168.00		\$332,000.00		\$366,390.00
623.1002	Honoapiilani Hwy./Shaw St. Traffic Signal System	L.S.	L.S.		\$220,000.00		\$352,000.00		\$239,974.00		\$365,000.00		\$366,390.00
624.0100	Cut, Plug & Remove Exist. 8-inch Waterline	L.S.	L.S.		\$1,700.00		\$1,000.00		\$4,636.00		\$5,500.00		\$2,000.00
624.0200	Connect to Exist. 8-inch Waterline	L.S.	L.S.		\$6,100.00		\$20,000.00		\$19,764.00		\$32,000.00		\$10,000.00
624.0300	8-inch Ductile Iron Pipe, Class 52	L.S.	L.S.	<u> </u>	\$113,000.00	<u></u>	\$80,000.00		\$103,822.00		\$105,000.00		\$305,250.00

PROJECT: HONOAPIILANI HIGHWAY WIDENING LAHAINALUNA ROAD TO AHOLO ROAD						
FEDERAL AID PROJECT NO.: STP-030-1(39)						STATE OF HAWAII DEPARTMENT OF
TYPE CODE: 03, 21, 31, 42, 43	GG	GOODFELLOW BROTHERS, INC.	HAWAIIAN DREDGING CONSTRUCTION CO., INC.	MAUI MASTER BUILDERS, INC.	KIEWIT PACIFIC, CO.	TRANSPORTATION HIGHWAYS DIVISION
INTERNET POSTING: November 24, 2008						THOMWATO DIVIDION
BIDS OPENED: December 30, 2008 COMPLETION TIME: Two Hundred Seventy (270) Working Days	S					

COMPLETION TIME: Two Hundred Seventy (270) Working Days													
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT								
624.0400	1-inch Air Relief Valve Assembly (Class 150) Including Type "F" Manhole	L.S.	L.S.		\$3,200.00		\$2,000.00		\$4,301.00		\$3,500.00	v	\$2,000.00
624.0500	8-inch Gate Valve (Class 150), Including Sliding Valve Box	L.S.	L.S.		\$4,300.00		\$7,000.00		\$6,198.00		\$7,900.00		\$10,000.00
624.0600	Cast Iron Fittings	L.S.	L.S.		\$4,000.00		\$1,500.00		\$8,113.00		\$2,500.00		\$523.00
624.0700	Concrete Block for 8-inch Bends	L.S.	L.S.		\$2,300.00		\$5,000.00		\$3,904.00		\$4,200.00		\$550.00
624.0800	Adjusting Fire Hydrant	L.S.	L.S.		\$2,100.00		\$1,500.00		\$1,952.00		\$3,500.00		\$3,000.00
625.0001	Reinforced Concrete Jacket for 10-inch Sewer Pipe	282	LIN. FT.	\$280.00	\$78,960.00	\$350.00	\$98,700.00	\$709.00	\$199,938.00	\$650.00	\$183,300.00	\$240.00	\$67,680.00
625.0002	Reinforced Concrete Jacket for 16-inch Sewer Pipe	60	LIN. FT.	\$480.00	\$28,800.00	\$450.00	\$27,000.00	\$1,607.00	\$96,420.00	\$800.00	\$48,000.00	\$340.00	\$20,400.00
625.0003	Reinforced Concrete Jacket for 21-inch Sewer Pipe	650	LIN. FT.	\$370.00	\$240,500.00	\$600.00	\$390,000.00	\$1,029.00	\$668,850.00	\$900.00	\$585,000.00	\$450.00	\$292,500.00
626.0100	Adjusting Water Standard Valve Box	L.S.	L.S.		\$7,600.00		\$3,000.00		\$12,444.00		\$35,000.00		\$6,500.00
626.0200	Adjusting Water Manhole Frame and Cover	L.S.	L.S.		\$1,100.00		\$1,000.00		\$2,684.00		\$5,000.00		\$1,000.00
626.0300	Adjusting Sewer Manhole Frame and Cover	L.S.	L.S.		\$4,600.00	2. 1	\$5,000.00		\$9,760.00		\$17,000.00		\$4,000.00
626.0400	Adjusting Air Relief Valve Manhole Frame and Cover	L.S.	L.S.		\$1,100.00	1, 2	\$4,000.00		\$4,392.00		\$6,500.00		\$1,500.00
627.0001	Video Survey	1,760	LIN. FT.	\$5.00	\$8,800.00	\$7.00	\$12,320.00	\$3.60	\$6,336.00	\$2.00	\$3,520.00	\$17.00	\$29,920.00
629.0100	8-inch Pavement Striping (Thermoplastic Extrusion)	L.S.	L.S.		\$12,300.00		\$9,180.00		\$12,810.00		\$10,500.00		\$8,700.00
629.0200	Double 4-inch Pavement Striping (Thermoplastic Extrusion)	L.S.	L.S.		\$4,000.00		\$3,050.00		\$16,592.00		\$13,600.00		\$3,285.00
629.0300	4-inch Pavement Striping (Thermoplastic Extrusion)	L.S.	L.S.		\$59,800.00		\$50,000.00		\$40,016.00		\$32,800.00		\$33,960.00
629.0400	12-inch Pavement Striping (Thermoplastic Extrusion)	L.S.	L.S.		\$2,700.00		\$3,620.00		\$7,198.00		\$5,900.00		\$1,440.00

PROJECT: HONOAPIILANI HIGHWAY WIDENING LAHAINALUNA ROAD TO AHOLO ROAD

FEDERAL AID PROJECT NO.: STP-030-1(39)

TYPE CODE: 03, 21, 31, 42, 43

INTERNET POSTING: November 24, 2008

INTERNET POSTING: November 24, 2008  BIDS OPENED: December 30, 2008  COMPLETION TIME: Two Hundred Seventy (270) Working Days  ITEM NO.						ELLOW BROTHERS, INC.	HAWAIIAN DREDGING CONSTRUCTION CO., INC.		MAUI MA	ASTER BUILDERS, INC.	KIEWI	KIEWIT PACIFIC, CO.		OF HAWAII RTMENT OF PORTATION LYS DIVISION
629.0500	Crosswalk Marking (T)	QU	ANTITY	UNIT	UNIT PRIC								,	
629.0600	Crosswalk Marking (Thermoplastic Extrusion) Pavement Arrow (Thermoplastic Extrusion)		S.	L.S.	OM PRICE	- INCOM	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE			
629.0700	Pavement Arrow (Thermoplastic Extrusion)  Pavement Word (The		.s.	L.S.		\$20,600.00		\$16,140.00		\$14,030.00	ONIT PRICE		UNIT PRICE	AMOUNT
629.0800	Pavement Word (Thermoplastic Extrusion)	L.	s.	L.S.		\$7,000.00		\$19,150.00		\$21,960.00		\$11,500.00		\$10,500.00
629.0900	Pavement Symbol (Thermoplastic Extrusion)  Type A Pavement Marker	L.S	s.	L.S.		\$3,600.00		\$4,300.00		\$1,830.00		\$18,000.00		\$17,850.00
620 400-	Type C Pavement Marker	L.S	.	L.S.		\$1,900.00		\$500.00		\$854.00		\$1,500.00		\$4,500.00
620 44-		L.S.		L.S.		\$5,900.00		\$11,170.00		\$13,054.00		\$700.00		\$800.00
620 400-	ype D Pavement Marker	L.S.		L.S.		\$6,900.00		\$6,260.00				\$10,700.00		\$8,208.00
620 1000	/pe DB Pavement Marker	L.S.		S.		\$450.00		\$325.00		\$9,882.00		\$8,100.00		\$6,147.00
620 0	De H Pavement Marker	L.S.				\$39.00		\$20.00		\$1,830.00		\$1,500.00		\$360.00
	et Norman	L.S.		.S.		\$2,800.00		\$2,260.00		\$854.00		\$700.00		\$18.00
24.0	et Name Sign	L.S.	L.\$			\$1,000.00		\$600.00		\$4,026.00		\$3,300.00		\$2,475.00
1.0200 Warni	llatory Sign (10 Square Feet or Less)	L.S.	L.S		9	610,800.00	9	610,430.00		\$732.00		\$1,000.00		\$125,000.00
, ran	ing Sign (10 Square Feet or Less)	L.S.	L.S.		\$	23,300.00		13,000.00		\$10,492.00		\$10,430.00		\$2,750.00
Oda-	Greater than 10 Square Feet)	L.S.	L.S.		\$1	18,500.00		8,420.00		511,712.00		\$13,000.00		\$9,600.00
, spe ii	Object Markers	L.S.	L.S.		\$5	6,600.00		4,820.00		58,784.00		\$8,420.00		\$7,000.00
, tonecto	r Marker Type RM-3	L.S.	L.S.		\$2	,400.00		,500.00		57,096.00	;	\$54,820.00		\$500.00
Ivillepost	Marker with Post (Bi-Directional)		L.S.		\$9	770.00		1	. \$	1,281.00		\$1,500.00		\$330,200.00
		L.S.	L.S.		\$2	40.00		80.00	\$	586.00		\$600.00		\$400.00
							Ψ.	30.00	\$	610.00		\$580.00		\$150.00

4 . .

PROJECT: HONOAPIILANI HIGHWAY WIDENING LAHAINALUNA ROAD TO AHOLO ROAD  FEDERAL AID PROJECT NO.: STP-030-1(39)  TYPE CODE: 03, 21, 31, 42, 43  INTERNET POSTING: November 24, 2008  BIDS OPENED: December 30, 2008  COMPLETION TIME: Two Hundred Seventy (270) Working Days					OW BROTHERS, NC.		N DREDGING TION CO., INC.		ER BUILDERS, INC.	KIEWIT F	PACIFIC, CO.	DEPAR TRANSF	OF HAWAII TMENT OF PORTATION YS DIVISION
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	a. Sum of All Items				\$18,495,401.50		\$19,162,000.00	_	\$22,649,828.76	*	\$24,767,977.00		\$25,569,542.75
	<ul> <li>b. Either Furnish Foreign Steel Not To         Exceed Minimal Amount (Insert "O") or         Furnish Foreign Steel in Excess of Minimal Amount (Insert "O")     </li> </ul>	nsert 25% x a	)		\$0.00	-	\$0.00	<u>-</u>	\$0.00	_	\$0.00	-	\$0.00
	c. Amount for Comparison of Bids (a+b)			:	\$18,495,401.50	=	\$19,162,000.00	=	\$22,649,828.76	*	\$24,767,977.00	=	\$25,569,542.75
	* Corrected figure												
	I certify that this is a true and correct tabulation of bids opened for this project.			/ /									
	Charlene Shibuya	_		16/09 Date									